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VR 2 64 2 H26 H|WFk264 2 H26H 17 4 3 60
VA2 64 2 H 4 H|FRk264 2 A 4 H 16 43 59
TR 2 64 1 A2 1H|FK264F 1 A2 1H| S 17 17
FRk2 64 1 A 7 H|ERK264 1 A 7 H| AR 12 12
VK2 51 2H 24| VK251 2H24H 15 36 51
V251 2H10H | 2541 2H10H| K 18 18
P2 5411 A26H|FK254F11A26H] KM 12 12
VA2 511 H1T2H| K251 1H12H 21 5 4 75
P25 10A2 20| FR254F10A2 20 K 20 20
FRK2 541 0H 8 H|WFk25410H 8 H 11 28 39
VR 2 5% 9 H24H|FRK25% 9 H24H 33 71 100
VA2 54 9 H1OH|FAkK254 9 A1 1H 54 120 180
VR 2 54 8 H2 7H|WRK2 5% 8 H27H 16 36 52
VA2 54 8 H12H|'FAk254 8 A1 2H 29 61 90
VR 2 5% 7 H2 3H|WRK25% 7 H23H 13 26 39
R 2 54 7 H 9 H|FRkK254 7 H 9 H 19 42 61
VR 2 5% 6 H25H| K254 6 H25H 2 4 50 74
VA2 54 6 H1 1H|'FAkK254 6 A1 1H 35 74 109
VR 2 5% 5 H28H| K254 5 H28H 11 18 29
YRk 2 54 5 H14H | Ek254 5 H14H| AR 17 17
Rk 2 54 4 A2 3H|EAK254F 4 A23H| R 19 19
TR 2 5% 4 H 9H|EK254 4 H 9H 17 4 4 61
2 WK
( HAL : _XT LV ke )
£ R B A & B R L
TR 2 64 2 A26 H|FK264F 2 A26H| A At —
P2 64 1 A2 1H|FK264 1 A21H| KM N —
VK254 12H24H 2541 2H24H0 R A —
P25 11HA26H8 | FK25411HA26H0] K N —
V2541 0H22H | FK25410H22H0 R A —
T2 54 9 A24H|FK254 9 A24H| KM N —
Rk 2 54 8 A2 7H|EK254F 8 A2 7H| AHH A —
k2 54 7 A23H|FK254 7 A23H| KM N —
Rk 2 54 6 H25H|F254F 6 A25H A A —
P2 54 5 A28 H|FK254 5 A28H| A N —
PRk 2 54 4 H23H|EK254F 4 H23H| AHH K H —




